
  

 

Madden Industries, Inc 

602-730-1818 
 

Cable Railing Kits & Components 



  

 

  

 

 

         
 
 Part No.   Size      Construction   Material 
MT6WR119-18   1/8"   1 x 19    316L 
MT6WR119-316             3/16”   1 x 19    316L 
MT6WR119-14              1/4”   1 x 19    316L 

***Available in 500ft., 1000ft., and 5000ft. Reels 

LOW CARBON CABLE 

 

 

  

 

 

         
 
 Part No.   Size  Construction  Material  
MT6WR719-18   1/8"  7 x 19    316L 
MT6WR719-316            3/16”  7 x 19    316L  
MT6WR719-14             1/4”  7 x 19    316L 

***Available in 500ft., 1000ft., and 5000ft. Reels 

LOW CARBON CABLE  

 

 
Cable 1x19 

Stainless Steel  
T316 

  

 

 
Cable 7x19 

Stainless Steel  
T316  

 

Cables 



 
 
 

Part No. Cable Size # of Cavity Total Length Net Wt. Lbs. 
MSST-2 1/8” & 3/16” 2 22.50” 5 

 
 
 
 

 
Part No. Cable Size # of Cavity Total Length Net Wt. Lbs. 
MSST-3 1/8”, 3/16” & 1/4” 3 30” 9 

 
 
 
 
 

 
 

Part No. Cable Size Total Length Net Wt. Lbs. 
MWC-15.4 1/2" 19” 4 

 
 
 

Hand Swage Tool 

1/8” and 3/16” Cable Stud 
Fittings 

Hand Swage Tool 

1/8”, 3/16”, & 1/4" Cable 
Stud Fittings 

 

Wire Rope & Cable Cutter 

For up to 1/2" Size 

Tools 



 
 

 
 
 

Part No. Swage A (Thread) B (Cable Size) C L 
MT6HSST14-18L Hand Swage 1/4"-20 Left 1/8” 2” 4” 
MT6HSST14-18R Hand Swage 1/4"-20 Right 1/8” 2-1/16” 3-15/16” 
MT6HSST14-18-5R Hand Swage 1/4"-20 Right 1/8” 2-1/16” 5” 
MT6HSST14-18HSXL7.5 Hand Swage 1/4"-20 Right 1/8” 2” 7-1/2” 
MT6HSST14-18HSXL8.0 Hand Swage 1/4"-20 Right 1/8” 2” 8” 
MT6HSST14-18LHSXL10 Hand Swage 1/4"-20 Right 1/8” 2” 10” 
MT6HSST14-316L Hand Swage 1/4"-20 Left 3/16” 2-1/2” 4-11/32” 
MT6HSST14-316R Hand Swage 1/4"-20 Right 3/16” 2-7/16” 4-3/8” 
MT6HSST14-316-5.63R Hand Swage 1/4"-20 Right 3/16” 2-3/8” 5-5/8” 
MT6HSST14-316HSXL10 Hand Swage 1/4"-20 Right 3/16” 2-7/16” 10” 
MT6HSST516-14R Hand Swage 5/16”-18 Right 1/4" 3-3/16” 5-1/2” 
MT6HSST516-14L Hand Swage 5/16”-18 Right 1/4" 3-3/16” 5-1/2” 
      
      

 
***Wrench flat studs have a flat spot on the stud that allows a wrench to fit while tensioning. 
*** Hand Swage is where you swage a fitting using a hand swage tool, or a hand-held hydraulic swage 
tool. 
 
 
 
 
 
 
 
 
 
 
 
 

Wrench Flat Stud / 
Long Stud 

Stainless Steel T316 

Swage Studs 



 

 
 
 
 
 

Part No. Swage A (Thread) B (Cable Size) C L 
MT6MSST14-18L Machine Swage 1/4"-20 Left 1/8” 2” 3-7/8” 
MT6MSST14-18R Machine Swage 1/4"-20 Right 1/8” 2” 3-7/8” 
MT6MSST14-532L Machine Swage 1/4"-20 Left 5/32” 2-7/16” 4-3/8” 
MT6MSST14-532R Machine Swage 1/4"-20 Right 5/32” 2-7/16” 4-3/8” 
MT6MSST14-316L Machine Swage 1/4"-20 Left 3/16” 2-3/8” 4-11/32” 
MT6MSST14-316R Machine Swage 1/4"-20 Right 3/16” 2-3/8” 4-1/2” 
MT6MSST516-316L Machine Swage 5/16”-18 Left 3/16” 2-9/16” 4-7/8” 
MT6MSST516-316R Machine Swage 5/16”-18 Right 3/16” 2-9/16” 4-7/8” 
MT6MSST516-14L Machine Swage 5/16”-18 Left 1/4" 3-1/8” 5-1/2” 
MT6MSST516-14R Machine Swage 5/16”-18 Right 1/4" 3-1/8” 5-1/2” 
MT6MSST38-316L Machine Swage 3/8”-16 Left 3/16” 2-9/16” 5-11/32” 
MT6MSST38-316R Machine Swage 3/8”-16 Right 3/16” 2-9/16” 5-11/32” 
MT6MSST38-14L Machine Swage 3/8”-16 Left 1/4" 3-3/16” 6” 
MT6MSST38-14R Machine Swage 3/8”-16 Right 1/4" 3-3/16” 6” 
MT6MSST12-14L Machine Swage 1/2"-13 Left 1/4" 3-5/16” 6-9/16” 
MT6MSST12-14R Machine Swage 1/2"-13 Right 1/4" 3-5/16” 6-9/16” 
MT6MSST12-516L Machine Swage 1/2"-13 Left 5/16” 4” 7-5/16” 
MT6MSST12-516R Machine Swage 1/2"-13 Right 5/16” 4” 7-5/16” 
MT6MSST58-38L Machine Swage 5/8”-11 Left 3/8” 4-5/16” 8-11/16” 
MT6MSST58-38R Machine Swage 5/8”-11 Right 3/18” 4-5/16” 8-11/16” 
MT6MSST34-12L Machine Swage 3/4"-10 Left 1/2" 4-9/32” 10” 
MT6MSST34-12R Machine Swage 3/4"-10 Right 1/2" 4-9/32” 10” 
      
      

 
***Wrench flat studs have a flat spot on the stud that allows a wrench to fit while tensioning. 
***Machine Swage is where you are using a commercial grade hydraulic swage machine, such as one 
that is powered by a 110v electrical outlet. 

Wrench Flat Stud / 
Long Stud 

Stainless Steel T316 

 



 
 
 

Part No. Swage A (Cable Size) B (Thread)  L 
MT6HLSST14-18L Hand Swage 1/8” 1/4"-20 Left 4-1/4” 
MT6HLSST14-18R Hand Swage 1/8” 1/4"-20 Right 4-1/4” 
MT6HLSST14-18UNFL4.5 Hand Swage 1/8” 1/4"-20 Left 4-1/2” 
MT6HLSST14-18UNFR4.5 Hand Swage 1/8” 1/4"-20 Right 4-1/2” 
MT6HLSST14-18HSXL Hand Swage 1/8” 1/4"-20 Left 10” 
MT6HLSST14-18UNFL Hand Swage 1/8” 1/4"-28 Left Fine 4-1/4” 
MT6HLSST14-18UNFR Hand Swage 1/8” 1/4"-28 Right Fine 4-1/4” 
MT6HLSST14-316L Hand Swage 3/16” 1/4"-20 Left 4-1/4” 
MT6HLSST14-316R Hand Swage 3/16” 1/4"-20 Right 4-1/4” 
MT6HLSST14-316HSXL Hand Swage 3/16” 1/4"-20 Right 10” 
MT6HLSST14-316UNFL Hand Swage 3/16” 1/4"-28 Left Fine 4-1/4” 
MT6HLSST14-316UNFR Hand Swage 3/16” 1/4"-28 Right Fine 4-1/4” 
MT6HLSST516-14L Hand Swage 1/4" 5/16”-18 Left 4-3/4” 
MT6HLSST516-14R Hand Swage 1/4" 5/16”-18 Right 4-3/4” 
MT6HLSST516-14HSXL Hand Swage 1/4" 5/16”-24 Right 12-1/4” 
MT6HLSST516-14UNFL Hand Swage 1/4" 5/16”-24 Left Fine 4-3/4” 
MT6HLSST516-14UNFR Hand Swage 1/4" 5/16”-24 Right Fine 4-3/4” 
MT6HLSST38-14L Hand Swage 1/4" 3/8”-16 Left 5-1/4” 
MT6HLSST38-14R Hand Swage 1/4" 3/8”-16 Right 5-1/4” 
MT6HLSST38-14HSXL Hand Swage 1/4" 3/8”-16 Right 12-1/4” 
MT6HLSST38-14UNFL Hand Swage 1/4" 3/8”-16 Left Fine 5-1/4” 
MT6HLSST38-14UNFR Hand Swage 1/4" 3/8”-16 Right Fine 5-1/4” 
     
     

Life Line 

Stud / Long Stud 

Stainless Steel T316 



 
 
 

Part No. Swage A (Cable Size) B (Thread)  L 
MT6HLSST14-18L Machine Swage 1/8” 1/4"-20 Left 4-9/32” 
MT6HLSST14-18R Machine Swage 1/8” 1/4"-20 Right 4-9/32” 
MT6HLSST1418UNFL Machine Swage 1/8” 1/4"-28 Left Fine 4-1/4” 
MT6HLSST14-18UNFR Machine Swage 1/8” 1/4"-28 Right Fine 4-1/4” 
MT6HLSST14-316L Machine Swage 3/16” 1/4"-20 Left 4-1/4” 
MT6HLSST14-316R Machine Swage 3/16” 1/4"-20 Right 4-1/4” 
MT6HLSST14-316UNFL Machine Swage 3/16” 1/4"-28 Left Fine 4-1/4” 
MT6HLSST14-316UNFR Machine Swage 3/16” 1/4"-28 Right Fine 4-1/4” 
MT6HLSST516-316UNFR Machine Swage 3/16” 5/16”-18 Right 2-1/8” 
MT6HLSST516-14L Machine Swage 1/4" 5/16”-18 Left 4-3/4” 
MT6HLSST516-14R Machine Swage 1/4" 5/16”-18 Right 4-3/4” 
MT6HLSST516-14HSXL Machine Swage 1/4" 5/16”-18 Right 12-1/4” 
MT6HLSST516-14UNFL Machine Swage 1/4" 5/16”-24 Left 4-3/4” 
MT6HLSST516-14UNFR Machine Swage 1/4" 5/16”-24 Right 4-3/4” 
MT6HLSST516-14UNFXLR Machine Swage 1/4" 5/16”-24 Right Fine 12-1/4” 
MT6HLSST38-14L Machine Swage 1/4" 3/8”-16 Left 5-1/4” 
MT6HLSST38-14R Machine Swage 1/4" 3/8”-16 Right 5-1/4” 
MT6HLSST38-14HSXL Machine Swage 1/4" 3/8”-16 Right 12-1/4” 
MT6HLSST38-14UNFL Machine Swage 1/4" 3/8”-24 Left Fine 5-1/4” 
MT6HLSST38-14UNFR Machine Swage 1/4" 3/8”-24 Right Fine 5-1/4” 
     
     

 
***Machine Swage is where you are using a commercial grade hydraulic swage machine, such as one 
that is powered by a 110v electrical outlet. 
 
 
 
 
 

Life Line 

Stud / Long Stud 

Stainless Steel T316 



 
 

Part No. A (Cable Size) B C L 
MT6HLST-18R 1/8” 2” 1.35” 4” 
MT6HLST-18L 1/8” 2” 1.55” 4” 
MT6HLST-316R 3/16” 2” 2” 4” 
MT6HLST-316L 3/16” 2” 2” 4-3/8” 
MT6HLST-316AR 3/16” 2” (3/8” Thread) 2” 4-3/8” 

 
 

 
 

Part No. A (Cable Size) H L 
MT6HDPST-18 1/8” 1/4" 3-3/4” 
MT6HDPST-316 3/16” 1/4" 4” 

 
 
 
 
 
 
 
 
 
 

Lag Stud 

Stainless Steel T316 

Drop Pin Stud 

Stainless Steel T316 



 

 
 

Part No. Swage A (Cable) B C D L 
MT6HADST14-18 Hand Swage 1/8” 1/4"-20 1-3/4” .25” 3-1/2” 
MT6HADST14-316 Hand Swage 3/16” 1/4"-20 1-3/4” .35” 4” 
MT6HADST14-14 Hand Swage 1/4" 5/16”-18 2.0” .49” 4-5/8” 
       
MT6MADST14-18 Machine Swage 1/8” 1/4"-20 1-3/4” .25” 3-1/2” 
MT6MADST14-18 Machine Swage 3/16” 1/4"-20 1-3/4” .35” 4” 
MT6MADST14-18 Machine Swage 1/4" 5/16”-18 2.0” .49” 4-5/8” 

 
 
 

 
 

Part No. Swage A (Cable Size) D E F L 
MT6MRSCST-18 Machine 1/8” 1.12” .25” .21” 3.45” 
MT6MRSCST-316 Machine 316” 1.12” .30” .25” 3.45” 
MT6MRSCST-14 Machine 1/4" 1.12” .42” .38” 3.45” 

 
 
 
 
 

Adjustable Stud 

Stainless Steel T316 

Rescue Stud 

Stainless Steel T316 



 
 

Part No. Swage B (Cable Size) L L1 D1 D2 
MT6HAST-18 Hand Swage 1/8” 1-1/2” 3/4” 1/4” 1/8” 
MT6HAST-316 Hand Swage 3/16” 1-1/2” 3/4” 3/8” 3/16” 
       
MT6MAST-18 Machine Swage 1/8” 1-1/2” 3/4” 1/4" 1/8” 
MT6MAST-316 Machine Swage 3/16” 1-1/2” 3/4” 3/8” 3/16” 

 
 

 
Part No. Swage A (Cable Size) B C D L 
MT6HEST-18 Hand Swage 1/8” 1/4" 5/32” 2-3/8” 2-1/2” 
MT6HEST-316 Hand Swage 3/16” 3/8” 1/4" 3-7/32” 3-5/8” 
MT6HEST-14 Hand Swage 1/4" 1/2" 5/16” 3-15/16” 4-1/4” 
       
MT6MEST-116 Machine Swage 1/16” 3/16” 3/32” 1-1/2” 1-5/8” 
MT6MEST-332 Machine Swage 3/32” 13/64” 5/32” 1-3/4” 2” 
MT6MEST-18 Machine Swage 5/32” 1/4" 5/32” 2-3/16” 2-5/16” 
MT6MEST-532 Machine Swage 5/32” 21/64” 1/4" 2-1/4” 3” 
MT6MEST-316 Machine Swage 3/16” 3/8” 1/4" 3-1/8” 3-5/16” 
MT6MEST-14 Machine Swage 1/4" 1/2" 5/16” 3-11/16” 3-15/16” 
MT6MEST-516 Machine Swage 5/16” 9/16” 3/8” 4-7/8” 5-35/64” 
MT6MEST-38 Machine Swage 3/8” 5/8” 15/32” 5-1/2” 5-29/32” 
MT6MEST-12 Machine Swage 1/2" 3/4" 19/32” 6-3/16” 7-1/32” 

 
 
 

Angle Stud (T-Lock) 

Stainless Steel T316 

Marine Eye 

Stainless Steel T316 



 
 

Part No. T (Thread) A D L 
MT6RCVR14-18/316 1/4"-20 0.62” 0.38” 2-3/16” 
MT6RCVR516-14 5/16”-18 0.70” 0.48” 2-3/16” 
MT6RCVR38-14 3/8”-16 0.70” 0.48” 2-3/16” 

 
 

 
 
 

Part No. Swage A (Cable Size) B (Thread) L 
MT6HSST14-18INV Hand Swage 1/8” 1/4"-20 2-3/4” 
MT6HSST14-316INV Hand Swage 3/16” 1/4"-20 2-3/4” 
MT6HSST516-14INV Hand Swage 1/4" 5/16”-18 2-3/4” 
MT6HSST38-14INV Hand Swage 1/4" 3/8”-16 2-3/4” 
     
MT6MSST14—18INV Machine Swage 1/8” 1/4"-20 2-3/4” 
MT6MSST14-316INV Machine Swage 3/16” 1/4"-20 2-3/4” 
MT6MSST516-14INV Machine Swage 1/4" 5/16”-18 2-3/4” 

 
 

Invisible Receiver 

Stainless Steel T316 

Invisible Stud 

Stainless Steel T316 

Invisible Fittings 



 

 
Part No. Swage D (Cable Size) A L 
MT6HDOME-18 Hand Swage 1/8” 5/8” 2-1/4” 
MT6HDOME-18P Hand Swage 1/8” 5/8” 2-1/4” 
MT6HDOME-316 Hand Swage 3/16” 5/8” 2-3/8” 
MT6HDOME-316P Hand Swage 3/16” 5/8” 2-3/8” 
MT6HDOME-14 Hand Swage 1/4” 11/16” 2-13/16” 
MT6HDOME-14P Hand Swage 1/4" 11/16” 2-13/16” 
     
MT6MDOME-18 Machine Swage 1/8” 5/8” 2-1/4” 
MT6MDOME-18P Machine Swage 1/8” 5/8” 2-1/4” 
MT6MDOME-316 Machine Swage 3/16” 5/8” 2-1/4” 
MT6MDOME-316P Machine Swage 3/16” 5/8” 2-1/4” 
MT6MDOME-14 Machine Swage 1/4” 5” 2-13/16” 
MT6MDOME-14P Machine Swage 1/4" 5” 2-13/16” 
     

           
*** Part No ending in “P” is a Plain Head 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Dome Swage 

Stainless Steel T316 



 
 
 

 
 

Part No. Swage A (Cable Size) L 
MT6HSTEM-18M Hand Swage 1/8” 1-3/8” 
MT6HSTEM-316M Hand Swage 3/16” 1-5/8” 
MT6HSTEM-14M Hand Swage 1/4" 2.0” 
    
MT6MSTEM-18M Machine Swage 1/8” 1-3/8” 
MT6MSTEM-316M Machine Swage 3/16” 1-5/8” 
MT6MSTEM-14M Machine Swage 1/4" 2.0” 

 

 
 

Part No. Swage A (Cable Size) L 
MT6HSTEM-18W Hand Swage 1/8” 1-3/8” 
MT6HSTEM-316W Hand Swage 3/16” 1-5/8” 
MT6HSTEM-14W Hand Swage 1/4" 2.0” 
    
MT6MSTEM-18W Machine Swage 1/8” 1-3/8” 
MT6MSTEM-316W Machine Swage 3/16” 1-5/8” 
MT6MSTEM-14W Machine Swage 1/4" 2.0” 

 
 
 
 

Metal Post Stemball 

Stainless Steel T316 

Wooden Post Stemball 

Stainless Steel T316 

Stemball Fittings 



 

  
 

Part No. A B (Thread) C L 
MT6STEMRCVR14-18/316 3/8” 1/4"-20 9/16” 1-53/64” 
MT6STEMRCVR14-18/316F 3/8” 1/4"-28 Fine 9/16” 1-53/64” 

 
 

 

         
Part No. Swage A (Cable Size) B C (Thread) L 
MT6HSTMSTD14-18 Hand Swage 1/8” 9/16” 1/4"-20 2-5/8” 
MT6HSTMSTD14-18F Hand Swage 1/8” 9/16” 1/4"-28 Fine 2-5/8” 
MT6HSTMSTD14-316 Hand Swage 3/16” 9/16” 1/4"-20 2-5/8” 
MT6HSTMSTD14-316F Hand Swage 3/16” 9/16” 1/4"-28 Fine 2-5/8” 
      
MT6HSTMSTD14-18 Machine Swage 1/8” 9/16” 1/4"-20 2-5/8” 
MT6HSTMSTD14-18F Machine Swage 1/8” 9/16” 1/4"-28 Fine 2-5/8” 
MT6HSTMSTD14-316 Machine Swage 3/16” 9/16” 1/4"-20 2-5/8” 
MT6HSTMSTD14-316F Machine Swage 3/16” 9/16” 1/4"-28 Fine 2-5/8” 
      
      
      
      
      

 
 

Stem Fittings 

 
 

 
Stem Head Stud 
Stainless Steel  

T316 

Stem Head Stud 

Receiver 

Stainless Steel T316 



 

 
 

Part No. Swage A (Cable Size) B C D 
MT6HST-18 Hand Swage 1/8” 0.38 3-1/2” 0.23 
MT6HST-316 Hand Swage 3/16” 0.38 3-3/4” 0.23 
MT6HST-14 Hand Swage 1/4" 0.50 5.0” 0.31 
      
MT6MST-332 Machine Swage 3/32” 0.24” 2-5/8” 0.35” 
MT6MST-18 Machine Swage 1/8” 0.38” 3-1/8” 0.23” 
MT6MST-316 Machine Swage 3/16” 0.38” 4-1/8” 0.23” 
MT6MST-14 Machine Swage 1/4" 0.50” 5.0” 0.31” 
MT6MST-516 Machine Swage 5/16” 0.68” 6-1/2” 0.60” 
MT6MST-38 Machine Swage 3/8” 0.83” 7-5/16” 0.75” 
MT6MST-12 Machine Swage 1/2" 0.88” 8.0” 0.75” 

 

 
 

Part No. Swage A (Cable Size) B C L 
MT6HDST-18 Hand Swage 1/8” 1/4" 1-3/8” 3” 
MT6HDST-316 Hand Swage 3/16” 1/4" 1-3/8” 3” 
MT6HDST-14 Hand Swage 1/4" 3/8” 1-1/2” 5” 
      
MT6MDST-18 Machine Swage 1/8” 1/4" 1-3/8” 3” 
MT6MDST-316 Machine Swage 3/16” 1/4" 1-3/8” 3” 
MT6MDST-14 Machine Swage 1/4" 3/8” 1-1/2” 5” 

 

Deck Toggle 

Stainless Steel T316 

Toggle Fittings 
Toggle Jaw 

Stainless Steel T316 



 
 

Part No. Swage A (Cable Size) B C D 
MT6HJST-18 Hand Swage 1/8” 0.20 0.44 2.15” 
MT6HJST-316 Hand Swage 3/16” 0.31” 0.44” 2.75” 
MT6HJST-14 Hand Swage 1/4" 0.35” 0.50” 3.40” 
      
MT6MJST-332 Machine Swage 3/32” 0.19” 0.25” 2.19” 
MT6MJST-18 Machine Swage 1/8” 0.23” 0.44” 2.60” 
MT6MJST-532 Machine Swage 5/32” 0.25” 0.44” 3.13” 
MT6MJST-316 Machine Swage 3/16” 0.30” 0.44” 3.33” 
MT6MJST-14 Machine Swage 1/4" 0.35” 0.50” 3.80” 
MT6MJST-516 Machine Swage 5/16” 0.56” 0.62” 5.75” 
MT6MJST-38 Machine Swage 3/8” 0.55” 0.83” 6.19” 
MT6MJST-12 Machine Swage 1/2" 0.75” 0.81” 6.87” 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Jaw 

Stainless Steel T316 



 
 
 
 
 

  
 
 

Part No. A (Thread) B C L 
MT6THR-14L 1/4”-20 Left 2” 1/2” 4-1/2” 
MT6THR-14R 1/4"-20 Right 2” 1/2” 4-1/2” 
MT6THR-14UNFR 1/4"-28 Right Fine 2” 1/2” 4-1/2” 
MT6THR-516L 5/16”-18 Left 2-5/16” 1/2” 4-3/4” 
MT6THR-516R 5/16”-18 Right 2-5/16” 1/2” 4-3/4” 
MT6THR-516UNFR 5/16”-24 Right Fine 2-5/16” 1/2” 4-3/4” 
MT6THR-38L 3/8”-16 Left 2-9/16” 9/16” 5-1/8” 
MT6THR-38R 3/8”-16 Right 2-9/16” 9/16” 5-1/8” 

 
 

 
 
 

Part No. D (Thread) A B C 
MT6LHR-14L UNC 1/4" 3-3/4” 1-3/4” 1-1/2” 
MT6LHR-14R UNC 1/4" 3-3/4” 1-3/4” 1-1/2” 
MT6LHR-516L UNC 5/16” 5-3/16” 2-7/32” 1-5/8” 
MT6LHR-516R UNC 5/16” 5-3/16” 2-7/32” 1-5/8” 

 

Threaded Terminals 

Threaded Rod 

Stainless Steel T316 

Threaded Lag (Hanger Bolt) 

Stainless Steel T316 



 
 
 

Part No. A (Thread) C E L 
MT6DTHR-14L 1/4"-20 Left 1.30” 0.25” 3” 
MT6DTHR-14R 1/4"-20 Right 1.30” 0.25” 3” 
MT6DTHR-14UNFL 1/4"-28 Left Fine 1.30” 0.25” 3” 
MT6DTHR-14UNFR 1/4"-28 Right Fine 1.30” 0.25” 3” 
MT6DTHR-516L 5/16”-18 Left 1.65” 0.36” 3.50” 
MT6DTHR-516R 5/16”-18 Right 1.65” 0.36” 3.50” 

 
 
 

 
 
 

Part No. A B (Thread) C D E 
MT6TTHR-14L 0.40” 1/4"-20 Left 3.50” 0.23” 0.70” 
MT6TTHR-14R 0.40” 1/4"-20 Right 3.50” 0.23” 0.70” 
MT6TTHR-14UNFL 0.40” 1/4"-28 Left Fine 3.50” 0.23” 0.70” 
MT6TTHR-14UNFR 0.40” 1/4"-28 Right Fine 3.50” 0.23” 0.70” 
MT6TTHR-516L 0.53” 5/16”-18 Left 4” 0.31” 0.73” 
MT6TTHR-516R 0.53” 5/16”-18 Right 4” 0.31” 0.73” 

 
 
 
 

Threaded Deck Toggle 

Stainless Steel T316 

Threaded Toggle 

Stainless Steel T316 



 

 
 
 
 

Part No. A (Thread) B C D 
MT6JTHR-316L 3/16” Left 0.19” 0.28” 2.50” 
MT6JTHR-316R 3/16” Right 0.19” 0.28” 2.50” 
MT6JTHR-14L 1/4" Left 0.25” 0.44” 2.90” 
MT6JTHR-14R 1/4" Right 0.25” 0.44” 2.90” 
MT6JTHR-516L 5/16” Left 0.31” 0.45” 3.20” 
MT6JTHR-516R 5/16” Right 0.31” 0.45” 3.20” 
MT6JTHR-38L 3/8” Left 0.34” 0.50” 4.30” 
MT6JTHR-38R 3/8” Right 0.34” 0.50” 4.30” 
MT6JTHR-12L 1/2" Left 0.46” 0.58” 4.82” 
MT6JTHR-12R 1/2" Right 0.46” 0.58” 4.82” 
MT6JTHR-58L 5/8” Left 0.62” 0.75” 6.25” 
MT6JTHR-58R 5/8” Right 0.62” 0.75” 6.25” 

 
 
 

 
 

Part No. B (Thread) A C D 
MT6DPTHR-14L 1/4"-20 Left 1” 1-7/8” 2-1/16” 
MT6DPTHR-14R 1/4"-20 Right 1” 1-7/8” 2-1/16” 

 
 
 

Threaded Jaw 

Stainless Steel T316 

Threaded Drop Pin 

Stainless Steel T316 



 
 
 

Part No. A (Thread) B C D T L 
MT6TRET516-0.38UNF 5/16”-24 0.50” 0.25” 0.23” 0.38” 1.25” 
MT6TRET516-0.38UNC 5/16”-18 0.50” 0.25” 0.23” 0.38” 1.25” 
MT6TRET516-3UNC 5/16”-18 0.50” 0.25” 0.23” 3” 3.80” 
MT6TRET516-112LAG 5/16”-LAG 0.50” 0.25” 0.24” 1.50” 3.80” 

 
 
 

 
 

Part No. A (Thread) B C D 
MT6EB10-50MM 3/8” 1.92” 1-1/8” 3/8” 
MT6EB10-50MM 3/8” 2.68” 1-1/8” 3/8” 
MT6EB10-50MM 3/8” 3.56” 1-1/8” 3/8” 
MT6EB10-50MM 3/8” 4.36” 1-1/8” 3/8” 

 
 
 
 
 
 
 
 
 
 
 

Threaded Eye Tabs 

Stainless Steel T316 

Eye Bolts Type B 

DIN444 (A4) 

Stainless Steel T316 



 
 
 

Part No. A D (Thread) L 
MT6DOMTHR-14L 0.63” 1/4"-20 1.75” 
MT6DOMTHR-14R 0.63” 1/4"-20 1.75” 
MT6DOMTHR-516L 0.68” 5/16”-18 2.0” 
MT6DOMTHR-516R 0.68” 5/16”-18 2.0” 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Threaded Dome 

Stainless Steel T316 



 
 

 
 
           
 

Part No. A B Degree 
MT6AGWASHER30-14 1/4” 5/8” 30 
MT6AGWASHER30-516  5/16”  11/16” 30 
MT6AGWASHER30-38                  3/8” 11/16” 30 
MT6AGWASHER30-12 1/2" 11/16” 30 
MT6AGWASHER33-14                  1/4" 5/8” 33 
MT6AGWASHER33-516               5/16” 11/16” 33 
MT6AGWASHER33-38                  3/8” 11/16” 33 
MT6AGWASHER33-12 1/2" 11/16” 33 
MT6AGWASHER37-14 1/4” 5/8” 37 
MT6AGWASHER37-516 5/16” 11/16” 37 
MT6AGWASHER37-38 3/8” 11/16” 37 
    
    
    
    
    
    
    
    
    
    
    
    

 
Angle Washer 

30° / 33° / 37° Degrees 
Stainless Steel  

T316 

Nuts and Washers 



 
Part No. Post A B 
MT6AGWSHRP14-1.5 1-1/2” 1/4" 5/8” 
MT6AGWSHRP14-2.0 2.0” 1/4" 5/8” 
MT6AGWSHRP516-125 1-1/4” 5/16” 5/8” 
MT6AGWSHRP516-1.5 1-1/2” 5/16” 5/8” 
MT6AGWSHRP516-2.0 2.0” 5/16” 11/16” 
MT6AGWSHRP516-2.0A 2.0” 5/16” 11/16” 
MT6AGWSHRP10-1.5 1-1/2” 3/8” 11/16” 
MT6AGWSHRP10-2.0 2.0” 3/8” 11/16” 
    
    

 
 

  
 

Part No. A (Hole Size) O.D. 
MT6AGWSHSOF516-1.5 5/16” 5/8” 
MT6AGWSHSOF516-2.0 5/16” 5/8” 
MT6AGWSHSOF716-1.5 7/16” 11/16” 
MT6AGWSHSOF716-2.0 7/16” 11/16” 

 

Standoff for 
Round Post 

Stainless Steel T316 

Angled Washer 
1.25”, 1.5”, & 2.0” 

Round Post 
Stainless Steel T316 



 

 

 

Part No. Size Post A B 
MT6AGWSHCTRP14-1.5 1/4” 1-1/2” 1/4” 5/8” 
MT6AGWSHCTRP14-2 1/4" 2.0” 1/4" 5/8” 
MT6AGWSHCTRP516-1.5 5/16” 1-1/2” 5/16” 11/16” 
MT6AGWSHCTRP516-2 5/16” 2.0” 5/16” 11/16” 
MT6AGWSHCTRP38-1.5 3/8” 1-1/2” 3/8” 11/16” 
MT6AGWSHCTRP38-2 3/8” 2.0” 3/8” 11/16” 

 

 

 

 

Part No. Size A B To Use With 
MT6AGWSHCT-14 1/4" 1/4" 5/8” MT6HSTEM-18 
MT6AGWSHCT-516 5/16” 5/16” 11/16” MT6HSTEM-316 
MT6AGWSHCT-38 3/8” 3/8” 11/16” MT6HSTEM-14 

 

  

Angled Washer 1.5” & 2.0” 

Round Post 

Stainless Steel T316 

Countersunk Angled Washer 

Round Post 

Stainless Steel T316 



 

         
Part No.  Size A B 
MT6FLWASHER-14 -58  1/4" 5/8” 0.258 
MT6FLWASHER-516 5/16” 5/8” 0.334 
MT6FLWASHER-38  3/8” 3/4" 0.413 
MT6FLWASHER-716           7/16” 1-1/8” 0.476 
MT6FLWASHER-12 1/2” 15/16” 0.513” 
MT6FLWASHER-58 5/8” 1-1/2” 0.712” 
    

  

 

 

Flat Washer 
Stainless Steel  

T316 



 

       

  
Part No. Thread A H 
MT6CPNUT-14L Left Hand 1/4”-20  1/2" 
MT6CPNUT-14R Right Hand 1/4”-20  1/2" 
MT6CPNUT-14UNFL Left Hand - Fine 1/4”-28 1/2" 
MT6CPNUT-14UNFR Right Hand - Fine 1/4”-28 1/2" 
MT6CPNUT-516L Left Hand 5/16”-18 9/16" 
MT6CPNUT-516R Right Hand 5/16”-18 9/16" 
MT6CPNUT-516UNFR       Left Hand - Fine 5/16”-24 9/16" 
MT6CPNUT-38R Right Hand 3/8”-16 3/4" 
MT6CPNUT-12R Left Hand 1/2"-13 13/16” 
MT6CPNUT-58R Right Hand 5/8”-11 1.0” 

 

 

 

 

 

 

 

 

 

 

 

Cap Nut 
UNC Standard 

Right / Left Hand 
Stainless Steel  

T316 



 

 

 
 
 
           
 
       
 
 
 

Part No. Thread (A) C 
MT6HXNUT-14L 1/4”-20 (left hand) 0.22 
MT6HXNUT-14R 1/4”-20 (right hand) 0.22 
MT6HXNUT-516R 5/16”-18 (right hand) 0.26 
MT6HXNUT-516UNFL 5/16”-24 (left hand) 0.26 
MT6HXNUT-516UNFR 5/16”-24 (right hand) 0.26 
MT6HXNUT-38R 3/8”-16 (right hand) 0.33 
MT6HXNUT-12R 1/2"-13 (right hand) 0.43 
MT6HXNUT-58R 5/8”-11 (right hand) 0.54 
MT6HXNUT-34R 3/4"-10 (right hand) 0.62 

 

 

Part No. A (Thread) B C 
MT6FJNUT-14L 1/4"-20 Left 5/8” 3/8” 
MT6FJNUT-14R 1/4"-20 Right 5/8” 3/8” 
MT6FJNUT-14UNFR 1/4"-20 Right Fine 5/8” 3/8” 
MT6FJNUT-516R 5/16”-18 Right 11/16” 7/16” 
MT6FJNUT-516UNFR 5/16”-24 Right Fine 3/4" 1/2" 

 
Left / Right Hex  

Jam Nut 
Stainless Steel T316 

 
 

Flat/Dome 

For Jam Nut 

Stainless Steel T316 



 

Part No. A (Thread) B C 
MT6RJNUT-14L 1/4"-20 Left 5/8” 7/16” 
MT6RJNUT-14R 1/4"-20 Right 5/8” 7/16” 
MT6RJNUT-516L 5/16”-18 Left 11/16” 7/16” 
MT6RJNUT-516R 5/16”-18 Right 11/16” 7/16” 
MT6RJNUT-516UNFR 5/16”-24 Right Fine 11/16” 7/16” 
MT6RJNUT-38L 3/8”-16 Left 3/4" 9/16” 
MT6RJNUT-38R 3/8”-16 Right 3/4" 9/16” 

 

 

 

Part No. A (Thread) B C 
MT6BPNUT-14R 1/4"-20 5/8” 9/16” 

 

 

Part No. A (Thread) B C 
MT6DCAP-14R 1/4"-20 Right 5/8” 1/4" 
MT6DCAP-14UNFR 1/4"-28 Right Fine 5/8” 1/4" 

Round Cap  

for Jam Nut 

Stainless Steel T316 

Ball End Cap 

Stainless Steel T316 

Dome End Cap 

Stainless Steel T316 



 

Part No. A (Thread) B 
MT6FLNUT-14L 1/4"-20 5/8” 
MT6FLNUT-14R 1/4"-20 5/8” 
MT6FLNUT-516L 5/16”-18 11/16” 
MT6FLNUT-516R 5/16”-18 11/16” 

 

 

      

Part No. Cable Size A B C L 
MT6PROSLV 1/8”, 5/32”, 3/16” 0.21” 0.28” 0.50” 0.80” 
MT6PROSLV-14 1/4" 0.27” 0.35” 0.57” 1.0” 
MT6PROSLVAG 1/8”, 5/32”, 3/16” 0.21” 0.28” 0.64” 1.11” 

 

 
 
 

 

 

Flat End 

Stainless Steel T316 

 
 

Protective Sleeve 
Stainless Steel T316 



 

 

 

Part No. A (Thread) B (Total Length) 
MT6PB-14 1/4”-20 3-3/4” 
MT6PB-14UNF 1/4”-28 (Fine) 3-3/4” 
MT6PB-316 3/16”-24 3-5/16” 
MT6PB-516 5/16”-18 4-5/32” 
MT6PB-516UNF 5/16”-24 (Fine) 4-5/32” 
MT6PB-38 3/8”-16 4-3/4” 
MT6PB-38UNF 3/18”-24 (Fine) 4-3/4” 
MT6PB-12 1/2"-13 6” 
MT6PB-58 5/8”-11 7-5/8” 
MT6PB-34 3/4"-10 8-1/4” 
   

 

***Each pipe body has an internal left-hand thread and a right-hand thread.  Example, using MT6PB-14 
if you are using a right-hand threaded lag hanger bolt (MT6LHR-14R), then you will want a left-hand 
threaded stud (MT6HSST14-18L) to create the Lag Turnbuckle with Hand Swage 1/8 in. Stud – Part 
number MT6PBHSLST14-18.  If you have questions, call our office 602-730-1818      

 

 

 

 

 

Pipe Body Turnbuckle 

Stainless Steel T316 

Turnbuckle Fittings 



 

 

Part No. Swage Type F (Cable Size) A (Thread) B C 
MT6PBHSST14-18 Hand Swage 1/8” 1/4"-20 3-3/4” 7-3/4” 
MT6PBHSST14-316 Hand Swage 3/16” 1/4"-20 3-3/4” 7-3/4” 
MT6PBHSST516-14 Hand Swage 1/4" 5/16”-18 4-5/32” 9-3/16” 
      
MT6PBMSST14-18 Machine Swage 1/8” 1/4"-20 3-3/4” 7-3/4” 
MT6PBMSST14-316 Machine Swage 3/16” 1/4"-20 3-3/4” 7-3/4” 
MT6PBMSST516-14 Machine Swage 1/4" 5/16”-18 4-5/32” 9-3/16” 
MT6PBMSST38-316 Machine Swage 3/16” 3/8”-16 4-3/4” 10-1/8” 
MT6PBMSST38-14 Machine Swage 1/4" 3/8”-16 4-3/4” 10-1/8” 
MT6PBMSST12-14 Machine Swage 1/4" 1/2"-13 6” 11-3/4” 
MT6PBMSST12-516 Machine Swage 5/16” 1/2"-13 6” 14” 
MT6PBMSST58-38 Machine Swage 3/8” 5/8”-11 7-5/8” 16-3/8” 
MT6PBMSST34-12 Machine Swage 1/2" 5/8”-10 7-5/8” 18-7/8” 

 

 

 

 

 

 

 

Stud & Stud 

w/ Pipe Body Turnbuckle 

and Wrench Flat Stud 

Stainless Steel T316 



 

 

Part No. Swage Type F (Cable Size) A (Thread) B C 
MT6PBHLSST14-18 Hand Swage 1/8” 1/4”-20 3-3/4” 8-1/2” 
MT6PBHLSST14-18UNF Hand Swage 1/8” 1/4”-28 3-3/4” 8-1/2” 
MT6PBHLSST14-316 Hand Swage 3/16” 1/4”-20 3-3/4” 8-1/2” 
MT6PBHLSST14-316UNF Hand Swage 3/16” 1/4”-28 3-3/4” 8-1/2” 
MT6PBHLSST516-14 Hand Swage 1/4" 5/16”-18 4-5/32” 10-3/16” 
MT6PBHLSST516-14UNF Hand Swage 1/4" 5/16”-24 4-5/32” 10-3/16” 
MT6PBHLSST38-14 Hand Swage 1/4" 3/8”-16 4-3/4” 10-1/2” 
MT6PBHLSST38-14UNF Hand Swage 1/4" 3/8”-24 4-3/4” 10-1/2” 
      
MT6PBMLSST14-18 Machine Swage 1/8” 1/4”-20 3-3/4” 8-1/2” 
MT6PBMLSST14-18UNF Machine Swage 1/8” 1/4”-24 3-3/4” 8-1/2” 
MT6PBMLSST14-316 Machine Swage 3/16” 1/4”-20 3-3/4” 8-1/2” 
MT6PBMLSST14-316UNF Machine Swage 3/16” 1/4”-24 3-3/4” 8-1/2” 
MT6PBMLSST516-14 Machine Swage 1/4" 5/16”-18 4-5/32” 9-1/2” 
MT6PBMLSST516-14UNF Machine Swage 1/4" 5/16”-18 4-5/32” 9-1/2” 
MT6PBMLSST38-14 Machine Swage 3/8” 3/8”-16 4-3/4” 10-1/2” 
MT6PBMLSST38-14UNF Machine Swage 3/8” 3/8”-16 4-3/4” 10-1/2” 

 

 

 

 

 

 

 

Stud & Stud 

w/ Pipe Body Turnbuckle 

and Life Line Stud 

Stainless Steel T316 



 

Part No. Swage Type C (Cable Size) A (Thread) B D 
MT6PBHSRST14-18 Hand Swage 1/8” 1/4"-20 3-3/4” 1/2" 
MT6PBHSRST14-316 Hand Swage 3/16” 1/4"-20 3-3/4” 1/2" 
MT6PBHSRST516-14 Hand Swage 1/4" 5/16”-18 4-5/32” 1/2" 
      
MT6PBMSRST14-18 Machine Swage 1/8” 1/4"-20 3-3/4” 1/2" 
MT6PBMSRST14-316 Machine Swage 3/16” 1/4"-20 3-3/4” 1/2" 
MT6PBMSRST516-14 Machine Swage 1/4" 5/16”-18 4-5/32” 1/2" 
MT6PBMSRST38-14 Machine Swage 1/4" 3/8”-16 4-3/4” 1/2" 

 

 

 

 

 

 

 

 

 

 

 

Rod & Stud 

w/ Pipe Body Turnbuckle 

and Wrench Flat Stud 

Stainless Steel T316 

 



 

Part No. Swage Type C (Cable Size) A (Thread) B D 
MT6PBHLRST14-18 Hand Swage 1/8” 1/4"-20 3-3/4” 1/2" 
MT6PBHLRST14-316 Hand Swage 3/16” 1/4"-20 3-3/4” 1/2" 
MT6PBHLRST516-14 Hand Swage 1/4" 5/16”-18 4-5/32” 1/2" 
MT6PBHLRST516-14UNF Hand Swage 1/4" 5/16”-24 4-5/32” 1/2" 
MT6PBHLRST38-14 Hand Swage 1/4" 3/8”-16 4-3/4” 9/16” 
      
MT6PBMLRST14-18 Machine Swage 1/8” 1/4"-20 3-3/4” 1/2" 
MT6PBMLRST14-316 Machine Swage 3/16” 1/4"-20 3-3/4” 1/2" 
MT6PBMLRST516-14 Machine Swage 1/4" 5/16”-18 4-5/32” 1/2" 
MT6PBMLRST516-14UNF Machine Swage 1/4" 5/16”-24 4-5/32” 1/2" 
MT6PBMLRST38-14 Machine Swage 1/4" 3/8”-16 4-3/4” 1/2" 
      

 

 

 

 

 

 

 

 

 

 

Rod & Stud 

w/ Pipe Body Turnbuckle 

and Life Line Stud 

Stainless Steel T316 

 



 

Part No. Swage Type C (Cable Size) A (Thread) B H 
MT6PBHLST14-18 Hand Swage 1/8” 1/4"-20 3-3/4” 8-1/8” 
MT6PBHLST14-316 Hand Swage 3/16” 1/4"-20 3-3/4” 8-1/8” 
      
MT6PBMLST14-18 Machine Swage 1/8” 1/4"-20 3-3/4” 8-1/8” 
MT6PBMLST14-316 Machine Swage 3/16” 1/4"-20 3-3/4” 8-1/8” 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Lag & Stud 

w/ Pipe Body Turnbuckle 

and Wrench Flat Stud 

Stainless Steel T316 



 

 

Part No. Swage C (Cable Size) A (Thread) B H 
MT6PBHLLST14-18 Hand Swage 1/8” 1/4"-20 3-3/4” 8-1/8” 
MT6PBHLLST14-316 Hand Swage 3/16” 1/4"-20 3-3/4” 8-1/8” 
      
MT6PBMLLST14-18 Machine Swage 1/8” 1/4"-20 3-3/4” 8-1/8” 
MT6PBMLLST14-316 Machine Swage 3/16” 1/4"-20 3-3/4” 8-1/8” 

 

 

 

 

 

 

 

 

 

 

 

 

 

Lag & Stud 

w/ Pipe Body Turnbuckle 

and Life Line Stud 

Stainless Steel T316 

 



 

 

Part No. Swage Type C (Cable Size) A (Thread) B H 
MT6PBHSDPST14-18 Hand Swage 1/8” 1/4"-20 3-3/4” 0.212 
MT6PBHSDPST14-
316 

Hand Swage 3/16” 1/4"-20 3-3/4” 0.25” 

      
MT6PBMSDPST14-18 Machine Swage 1/8” 1/4"-20 3-3/4” 0.212” 
MT6PBMSDPST14-
316 

Machine Swage 3/16” 1/4"-20 3-3/4” 0.25” 

 

 

 

 

 

 

 

 

 

 

 

 

Drop Pin & Stud 

w/ Pipe Body Turnbuckle 

and Wrench Flat Stud 

Stainless Steel T316 

 



 

 

 

Part No. Swage Type C (Cable Size) A (Thread) B H 
MT6PBHLDPST14-18 Hand Swage 1/8” 1/4"-20 3-3/4” 0.212 
MT6PBHLDPST14-316 Hand Swage 3/16” 1/4"-20 3-3/4” 0.25” 
      
MT6PBMLDPST14-18 Machine Swage 1/8” 1/4"-20 3-3/4” 0.212” 
MT6PBMLDPST14-316 Machine Swage 3/16” 1/4"-20 3-3/4” 0.25” 

 

 

 

 

 

 

 

 

 

 

 

 

Drop Pin & Stud 

w/ Pipe Body Turnbuckle 

and Life Line Stud 

Stainless Steel T316 

 



 

 

 

Part No. Swage C (Cable Size) A (Thread) B D E P 
MT6PBHSTST14-18 Hand 1/8” 1/4"-20 3-3/4” 0.70 0.41 0.23 
MT6PBHSTST14-316 Hand 3/16” 1/4"-20 3-3/4” 0.70 0.41 0.23 
MT6PBHSTST516-14 Hand 1/4" 5/16”-18 4-5/32” 0.72” 0.55” 0.31” 
        
MT6PBMSTST14-18 Machine 1/8” 1/4"-20 3-3/4” 0.70 0.41 0.23 
MT6PBMSTST14-316 Machine 3/16” 1/4"-20 3-3/4” 0.70 0.41 0.23 
MT6PBMSTST516-14 Machine 1/4" 5/16”-18 4-5/32” 0.72” 0.55” 0.31” 

 

 

 

 

 

 

 

 

 

 

 

Toggle Jaw & Stud 

w/ Pipe Body Turnbuckle 

and Wrench Flat Stud 

Stainless Steel T316 



 

 

 

Part No. Swage C (Cable Size) A (Thread) B D E P 
MT6PBHLTST14-18 Hand 1/8” 1/4"-20 3-3/4” 0.70 0.41 0.23 
MT6PBHLTST14-18UNF Hand 1/8” 1/4"-28 Fine 3-3/4” 0.70 0.41 0.23 
MT6PBHLTST14-316 Hand 3/16” 1/4"-20 3-3/4” 0.70 0.41 0.23 
MT6PBHLTST14-316UNF Hand 3/16” 1/4"-28 Fine 3-3/4” 0.70 0.41 0.23 
MT6PBHLTST516-14 Hand 1/4" 5/16”-18 4-5/32” 0.72” 0.55” 0.31” 
        
MT6PBMLTST14-18 Machine 1/8” 1/4"-20 3-3/4” 0.70 0.41 0.23 
MT6PBMLTST14-18UNF Machine 1/8” 1/4"-28 Fine 3-3/4” 0.70 0.41 0.23 
MT6PBMLTST14-316 Machine 3/16” 1/4"-20 3-3/4” 0.70 0.41 0.23 
MT6PBMLTST14-316UNF Machine 3/16” 1/4"-28 Fine 3-3/4” 0.70 0.41 0.23 
        

 

 

 

 

 

 

 

Toggle Jaw & Stud 

w/ Pipe Body Turnbuckle 

and Life Line Stud 

Stainless Steel T316 



 

 

Part No. Swage C (Cable Size) A (Thread) B D 
MT6PBHSDTST14-18 Hand 1/8” 1/4"-20 3-3/4” 0.25” 
MT6PBHSDTST14-316 Hand 3/16” 1/4"-20 3-3/4” 0.25” 
MT6PBHSDTST516-14 Hand 1/4" 5/16”-18 4-5/32” 0.25” 
      
MT6PBMSDTST14-18 Machine 1/8” 1/4"-20 3-3/4” 0.25” 
MT6PBMSDTST14-316 Machine 3/16” 1/4"-20 3-3/4” 0.25” 
MT6PBMSDTST516-14 Machine 1/4" 5/16”-18 4-5/32” 0.25” 

 

 

 

 

 

 

 

 

 

 

 

 

Deck Toggle & Stud 

w/ Pipe Body Turnbuckle 

and Wrench Flat Stud 

Stainless Steel T316 



 

 

Part No. Swage C (Cable Size) A (Thread) B D 
MT6PBHLDTST14-18 Hand 1/8” 1/4"-20 3-3/4” 0.25” 
MT6PBHLDTST14-18UNF Hand 1/8” 1/4"-28 Fine 3-3/4” 0.25” 
MT6PBHLDTST14-316 Hand 3/16” 1/4"-20 3-3/4” 0.25” 
MT6PBHLDTST14-316UNF Hand 3/16” 1/4"-28 Fine 3-3/4” 0.25” 
MT6PBHLDTST516-14 Hand 1/4" 5/16”-18 4-5/32” 0.25” 
      
MT6PBMLDTST14-18 Machine 1/8” 1/4"-20 3-3/4” 0.25” 
MT6PBMLDTST14-18UNF Machine 1/8” 1/4"-28 Fine 3-3/4” 0.25” 
MT6PBMLDTST14-316 Machine 3/16” 1/4"-20 3-3/4” 0.25” 
MT6PBMLDTST14-316UNF Machine 3/16” 1/4"-28 Fine 3-3/4” 0.25” 
MT6PBMLDTST516-14 Machine 1/4" 5/16”-18 4-5/32” 0.25” 

 

 

 

 

 

 

 

Deck Toggle & Stud 

w/ Pipe Body Turnbuckle 

and Life Line Stud 

Stainless Steel T316 



 

 

Part No. Swage C (Cable Size) A (Thread) B D E P 
MT6PBHSJST14-18 Hand 1/8” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 
MT6PBHSJST14-316 Hand 3/16” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 
MT6PBHSJST516-14 Hand 1/4" 5/16”-18 4-5/32” 0.45” 0.46” 0.31” 
        
MT6PBMSJST14-18 Machine 1/8” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 
MT6PBMSJST14-316 Machine 3/16” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 
MT6PBMSJST516-14 Machine 1/4" 5/16”-18 4-5/32” 0.45” 0.46” 0.31” 
MT6PBMSJST38-14 Machine 1/4" 3/8”-16 4-5/32” 0.45” 0.46” 0.34” 

 

 

 

 

 

 

 

 

 

 

 

Jaw & Stud 

w/ Pipe Body Turnbuckle 

and Wrench Flat Stud 

Stainless Steel T316 



 

 

Part No. Swage C (Cable Size) A (Thread) B D E P 
MT6PBHLJST14-18 Hand 1/8” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 
MT6PBHLJST14-316 Hand 3/16” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 
MT6PBHLJST516-14 Hand 1/4" 5/16”-18 4-5/32” 0.45” 0.46” 0.31” 
MT6PBHLJST38-14 Hand 1/4" 3/8”-16 4-5/32” 0.45” 0.46” 0.34” 
        
MT6PBMLJST14-18 Machine 1/8” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 
MT6PBMLJST14-316 Machine 3/16” 1/4"-20 3-3/4” 0.42” 0.44” 0.23” 
MT6PBMLJST516-14 Machine 1/4" 5/16”-18 4-5/32” 0.45” 0.46” 0.31” 
MT6PBMLJST38-14 Machine 1/4" 3/8”-16 4-5/32” 0.45” 0.46” 0.34” 

 

 

 

 

 

 

 

 

 

 

 

Jaw & Stud 

w/ Pipe Body Turnbuckle 

and Life Line Stud 

Stainless Steel T316 



 

 

Part No. (Thread) A B C D E 
MT6PBJJ-316 3/16”-24 3-1/4” 5-3/16” 3/16” 1/4" 
MT6PBJJ-14 1/4"-20 3-3/4” 5-7/8” 1/4" 11/32” 
MT6PBJJ-516 5/16”-18 4-5/32” 7-5/16” 5/16” 3/8” 
MT6PBJJ-38 3/8”-16 4-3/4” 8-3/4” 3/8” 1/2" 
MT6PBJJ-12 1/2"-13 8” 10-3/4” 1/2” 9/16” 

 

 

 

 

 

 

 

 

 

Jaw & Jaw 

w/ Pipe Body Turnbuckle 

Stainless Steel T316 



 

 

Part No. (Thread) A B C D E 
MT6PBTT-14 1/4"-20 3-3/4” 5-3/4” 0.66” 5/16” 
MT6PBTT-14UNF 1/4"-28 Fine 3-3/4” 5-3/4” 0.66” 5/16” 
MT6PBTT-516 5/16”-18 4-5/32” 7-5/16” 0.66” 3/8” 
MT6PBTT-38 3/8”-16 4-3/4” 8-1/2” 0.70” 9/16” 
MT6PBTT-12 1/2"-13 6” 10” 1.12” 1/2" 
MT6PBTT-58 5/8”-12 7-5/8” 13-5/8” 1.18” 3/4" 
MT6PBTT-34 3/4"-10 8-3/8” 16-1/2” 1.75” 7/8” 

 

 

 

Toggle Jaw & Toggle Jaw 

w/ Pipe Body Turnbuckle 

Stainless Steel T316 



 

 

Part No. (Thread) A B C D E 
MT6PBMEE316-472 3/16”-24 3-3/16” 5-1/8” 7/32” 1/2" 
MT6PBMEE14-531 1/4"-28 3-3/4” 5-15/16” 1/4" 9-16” 
MT6PBMEE16-630 5/16”-24 4-5/32” 7” 5/16” 11/16” 
MT6PBMEE38-478 3/8”-24 5” 8-1/2” 13/32” 29/32” 
      

 

 

 

Marine Eye & Eye 

w/ Pipe Body Turnbuckle 

Stainless Steel T316 



 

Part No. Cable Size Thread 

CHCR300-18 1/8 in. ¼ in. Rod and Stud 

CHCR300-316 3/16 in. ¼ in. Rod and Stud 

CHCR400-18 1/8 in. Lag and Stud 

CHCR400-316 3/16 in. Lag and Stud 

CHCR500-18 1/8 in. Toggle and Stud 

CHCR500-316 3/16 in. Toggle and Stud 

CHCR600-18 1/8 in. Deck Toggle and Stud 

CHCR600-316 3/16 in. Deck Toggle and Stud 

CHCR700-18 1/8 in. Drop Pin and Stud 

CHCR700-316 3/16 in. Drop Pin and Stud 

 

 
 

Cable Rail Kits 
13 Turnbuckles and  

13 Studs w/ 
 500 ft. of Cable 



 

Part No. Description 
MT6RPDLCK-18SET-5 Rapid Lock For 1/8" Cable ,5 ft Package set W/Cap 
MT6RPDLCK-18SET-5XL Rapid Lock For 1/8" Cable ,5 ft 7.5 Long stud Package set W/Cap 
MT6RPDLCK-18SET-10 Rapid Lock For 1/8" Cable ,10 ft Package set W/Cap 
MT6RPDLCK-18SET-10XL Rapid Lock For 1/8" Cable ,10 ft 7.5 Long stud Package set W/Cap 
MT6RPDLCK-18SET-15 Rapid Lock For 1/8" Cable ,15 ft Package set W/Cap 
MT6RPDLCK-18SET-15XL Rapid Lock For 1/8" Cable ,15 ft 7.5 Long stud Package set W/Cap 
MT6RPDLCK-18SET-20 Rapid Lock For 1/8" Cable ,20 ft Package set W/Cap 
MT6RPDLCK-18SET-20XL Rapid Lock For 1/8" Cable ,20 ft 7.5 Long stud Package set W/Cap 
MT6RPDLCK-18SET-25 Rapid Lock For 1/8" Cable ,25 ft Package set W/Cap 
MT6RPDLCK-18SET-25XL Rapid Lock For 1/8" Cable ,25 ft 7.5 Long stud Package set W/Cap 
MT6RPDLCK-18SET-30 Rapid Lock For 1/8" Cable ,30 ft Package set W/Cap 
MT6RPDLCK-18SET-30XL Rapid Lock For 1/8" Cable ,30 ft 7.5 Long stud Package set W/Cap 
MT6RPDLCK-18SET-35 Rapid Lock For 1/8" Cable ,35 ft Package set W/Cap 
MT6RPDLCK-18SET-35XL Rapid Lock For 1/8" Cable ,35 ft 7.5 Long stud Package set W/Cap 
MT6RPDLCK-18SET-40 Rapid Lock For 1/8" Cable ,40 ft Package set W/Cap 
MT6RPDLCK-18SET-40XL Rapid Lock For 1/8" Cable ,40 ft 7.5 Long stud Package set W/Cap 
MT6RPDLCK-18SET-45 Rapid Lock For 1/8" Cable ,45 ft Package set W/Cap 
MT6RPDLCK-18SET-45XL Rapid Lock For 1/8" Cable ,45 ft 7.5 Long stud Package set W/Cap 
MT6RPDLCK-18SET-50 Rapid Lock For 1/8" Cable ,50 ft Package set W/Cap 
MT6RPDLCK-18SET-50XL Rapid Lock For 1/8" Cable ,50 ft 7.5 Long stud Package set W/Cap 
MT6RPDLCK-18SET-60 Rapid Lock For 1/8" Cable ,60 ft Package set W/Cap 
MT6RPDLCK-18SET-60XL Rapid Lock For 1/8" Cable ,60 ft 7.5 Long stud Package set W/Cap 
  
MT6RPDLCK-18CN Rapid Lock For 1/8" Cable With 2 Cap Nuts & 1 Locknut for Stud 
MRPDLCKEY-18 Rapid Lock Key For 1/8" Cable 

Rapid Lock Pre-Swaged Fittings 

3.5 in. or 7.5 in. Stud 



 

 

Part No. Size Construction WLL (LBS) Approx WT / 100 ft. (LBS) 
MT6WR119-18BO 1/8” 1x19 420 3.50 
MT6WR119-316BO 3/16” 1x19 940 7.70 

 

 

  

Part No. Swage A (Thread) B (Cable Size) C L 
MT6HSST14-18LBK Hand Swage 1/4"-20 Left 1/8” 2” 4” 
MT6HSST14-18RBK Hand Swage 1/4"-20 Right 1/8” 2-1/16” 3-15/16” 
MT6HSST14-316LBK Hand Swage 1/4"-20 Left 3/16” 2-1/2” 4-11/32” 
MT6HSST14-316RBK Hand Swage 1/4"-20 Left 3/16” 2-7/16” 4-3/8” 

 

 

 

Black Oxide Cable 

500ft and 1000ft Reels 

Stainless Steel T316 

Black Oxide 

Wrench Flat Stud 

Stainless Steel T316 



  

Part No. Swage A (Thread) B (Cable Size)  L 
MT6HLSST14-18LBK Hand Swage 1/4"-20 Left 1/8”  4-9/32” 
MT6HLSST14-18RBK Hand Swage 1/4"-20 Right 1/8”  4-9/32” 
MT6HLSST14-316LBK Hand Swage 1/4"-20 Left 3/16”  4-1/4” 
MT6HLSST14-316RBK Hand Swage 1/4"-20 Left 3/16”  4-1/4” 

  

 

  

Part No. A (Cable Size) H L 
MT6HDPST-18BK 1/8” 1/4" 3-3/4” 
MT6HDPST-316BK 3/16” 1/4" 4” 
 Short Style  
MT6HDPST-18SBK 1/8” 1/4" 2-1/4” 
MT6HDPST-316SBK 3/16” 1/4" 2-1/4” 

 

 

 

Black Oxide 

Life Line Stud 

Stainless Steel T316 

Black Oxide 

Drop Pin Stud 

Stainless Steel T316 



  

Part No. Swage D (Cable Size) A L 
MT6HDOME-18BK Hand Swage 1/8” 5/8” 2-1/4” 
MT6HDOME-316BK Hand Swage 3/16” 5/8” 2-3/8” 

  

  

Part No. T (Thread) A D L 
MT6RCVR14/18/316BK 1/4"-20 0.62 0.38” 2-3/16” 

 

  

Part No. Swage A (Cable Size) B (Thread) L 
MT6HSST14-18INVBK Hand Swage 1/8” 1/4"-20 2-3/4” 
MT6HSST14-316INVBK Hand Swage 3/16” ¼”-20 2-3/4” 

  

Black Oxide 

Dome Stud 

Stainless Steel T316 

Black Oxide 

Invisible Receiver 

Stainless Steel T316 

Black Oxide 

Invisible Stud 

Stainless Steel T316 



 

  

Part No. A (Thread) B C D E F L 
MT6DRCVR14-18/316-1.5BK 1/4”-20 1/2” 3/8” 19/32” 5/32” 1” 1-1/2” 

 

  

 

 

 

  

Part No. Swage A B C D E L 
MT6RHDOME-18-1.5BK Hand Swage 1/8” 7/32” 1” 19/32” 5/32” 1-1/2” 
MT6RHDOME-316-1.5BK Hand Swage 3/16” 9/32” 1” 19/32” 5/32” 1-1/2” 

 

 

 

 

 

Black Oxide 

Round Dome Receiver 

Stainless Steel T316 

Black Oxide 

Round Dome Stud 

Stainless Steel T316 



  

Part No. Swage A (Cable Size) B C D 
MT6HTST-18BK Hand Swage 1/8” 0.38” 3-1/2” 0.23” 
MT6HTST-316BK Hand Swage 3/16” 0.38” 3-1/2” 0.23” 

 

 

 

 

  

Part No. Swage A (Cable Size) B C L 
MT6HDTST-18BK Hand Swage 1/8” 1/4” 1-3/8” 3”” 
MT6HDTST-316BK Hand Swage 3/16” 1/4” 1-3/8” 3-1/4” 

 

 

 

 

Black Oxide 

Toggle Jaw Stud 

Stainless Steel T316 

Black Oxide 

Deck Toggle Stud 

Stainless Steel T316 



  

Part No. Swage C (Cable Size) A (Thread) B D E P 
MT6PHLJST14-18BK Hand Swage 1/8” 1/4"-20 3-3/4” 0.42” 0.32” 0.23” 
MT6PHLJST14-316BK Hand Swage 3/16” 1/4"-20 3-3/4” 0.42” 0.32” 0.23” 
 

 

 

  

Part No. Swage C (Cable Size) A (Thread) B D E P 
MT6PHSJST14-18BK Hand Swage 1/8” 1/4"-20 3-3/4” 0.42” 0.32” 0.23” 
MT6PHSJST14-316BK Hand Swage 3/16” 1/4"-20 3-3/4” 0.42” 0.32” 0.23” 
 

 

 

 

Black Oxide 

Jaw and Life Line Stud Turnbuckle 

Stainless Steel T316 

Black Oxide 

Jaw and Wrench Flat Stud 
Turnbuckle 

Stainless Steel T316 



  

 

Part No. Swage C (Cable Size) A (Thread) B D E P 
MT6PHLTST14-18BK Hand Swage 1/8” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 
MT6PHLTST14-316BK Hand Swage 3/16” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 
 

 

  

 

Part No. Swage C (Cable Size) A (Thread) B D E P 
MT6PHSTST14-18BK Hand Swage 1/8” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 
MT6PHSTST14-316BK Hand Swage 3/16” 1/4"-20 3-3/4” 0.70” 0.41” 0.23” 
 

 

 

 

Black Oxide 

Toggle Jaw and Life Line Stud 
Turnbuckle 

Stainless Steel T316 

Black Oxide 

Toggle Jaw and Wrench Flat Stud 
Turnbuckle 

Stainless Steel T316 



  

 

Part No. Swage C (Cable Size) A (Thread) B D 
MT6PHLDTST14-18BK Hand Swage 1/8” 1/4"-20 3-3/4” 0.25” 
MT6PHLDTST14-316BK Hand Swage 3/16” 1/4"-20 3-3/4” 0.25” 
 

 

  

Part No. Swage C (Cable Size) A (Thread) B D 
MT6PHSDTST14-18BK Hand Swage 1/8” 1/4"-20 3-3/4” 0.25” 
MT6PHSDTST14-316BK Hand Swage 3/16” 1/4"-20 3-3/4” 0.25” 
 

 

 

Black Oxide 

Deck Toggle and Life Line Stud 
Turnbuckle 

Stainless Steel T316 

Black Oxide 

Deck Toggle and Wrench Flat Stud 
Turnbuckle 

Stainless Steel T316 



  

 

Part No. Swage C (Cable Size) A (Thread) B H 
MT6PHLDPST14-18BK Hand Swage 1/8” 1/4"-20 3-3/4” 0.212” 
MT6PHLDPST14-316BK Hand Swage 3/16” 1/4"-20 3-3/4” 0.25” 
 

 

 

  

 

Part No. Swage C (Cable Size) A (Thread) B H 
MT6PHSDPST14-18BK Hand Swage 1/8” 1/4"-20 3-3/4” 0.212” 
MT6PHSDPST14-316BK Hand Swage 3/16” 1/4"-20 3-3/4” 0.25” 
 

 

Black Oxide 

Drop Pin and Life Line Stud 
Turnbuckle 

Stainless Steel T316 

Black Oxide 

Drop Pin and Wrench Flat Stud 
Turnbuckle 

Stainless Steel T316 



 

  

Part No. Swage C (Cable Size) A (Thread) B H 
MT6PHLLST14-18BK Hand Swage 1/8” 1/4"-20 3-3/4” 8-1/8” 
MT6PHLLST14-316BK Hand Swage 3/16” 1/4"-20 3-3/4” 8-1/8” 
 

 

 

 

  

Part No. Swage C (Cable Size) A (Thread) B H 
MT6PHSLST14-18BK Hand Swage 1/8” 1/4"-20 3-3/4” 8-1/8” 
MT6PHSLST14-316BK Hand Swage 3/16” 1/4"-20 3-3/4” 8-1/8” 
 

 

Black Oxide 

Lag and Life Line Stud Turnbuckle 

Stainless Steel T316 

Black Oxide 

Lag and Wrench Flat Stud 
Turnbuckle 

Stainless Steel T316 



 

  

 

Part No. A (Thread) B (Total Length) 
MT6PB-14 1/4"-20 3-3/4” 
   

  

 

 

  

 

Part No. Thread A H 
MT6HXNUT-14RBK Right Hand 1/4"-20 0.22” 

 

 

Black Oxide 

Pipe Body Turnbuckle 

Stainless Steel T316 

Black Oxide 

Hex Nut UNC Standard 

Stainless Steel T316 



 

  

Part No. Thread A H 
MT6CPNUT-14RBK Right Hand 1/4"-20 1/2" 

 

  

Part No. A (Thread) B C 
MT6RJNUT-14RBK 1/4”-20 Right 5/8” 7/16” 

 

 

  

Part No. A B C D L 
MT6PROSLVBK 1/8”, 5/32”, 3/16” 0.21” 0.28” 0.50” 0.80” 

 

Black Oxide 

Cap Nut UNC Standard 

Stainless Steel T316 

Black Oxide 

Protective Sleeves 

Stainless Steel T316 

Black Oxide 

Round Cap for Jam Nut 

Stainless Steel T316 



  

Part No. Degrees A B 
MTAGWASHER30-14BK 30 1/4" 5/8” 
MTAGWASHER33-14BK 33 1/4" 5/8” 
MTAGWASHER33-38BK 33 3/8” 5/8” 

 

 

  

Part No. Thread Size A B 
MT6FLWASHER-14-58 1/4" 5/8” 0.258 

 

  

 

Part No. A B C 
Mt6SCR14-2BK (#8) 0.16” 0.32” 2” 

 

Black Oxide 

Angled Washers 

Stainless Steel T316 

Black Oxide 

Flat Washers 

Stainless Steel T316 

Black Oxide 

Wood Screws 

Stainless Steel T316 



 



 

Madden Industries offers pre-drilled 
posts and frame kits too for quick 
installations.   
 
Call for details: 602-730-1818 


